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No Xt H—k Bf fEl | No XD —F
1 DI ARS (%) vs FarT+(H) 14:15 1 RAEFHGR) vs 0 e ()
2 | EFAXKEVD) vs DYRS(#&) | 1425 2 Far7(H) vs 2 REFHER)
3 e et (R) vs EFAKREVD)| 1435 | 3 DIVARS(#F) vs 2 AEFHER)
4 FarT(H) vs Nl fth(R) | 1445 | 4 RAEFHGR) vs 0 | EFAIKXKEVY)
5 IVARAS(#%) vs e fd(ER) | 14:55 5 FarT(#E) vs 1 | FAKREVD)
x =

6 e fth () vs AEFHGEE) 15:05 6 DIRZ(H%) vs 3 FarT(#E)
7 AEFTHEB) vs FarT(#) 15:15 7 | €FAKREVY) vs 4 DIRZ(H)
8 AEFHR) vs DVRS (%) 15:25 8 el (i) vs 1 SFAXREVD)
9 | RFAKXKEVD) vs BEFHER) | 1535 9 Far 7+ (#H) vs 1 e ()
10 | &FAKEVD) vs FarT(#) 1545 | 10 | PURTU(#) vs 3 e ()
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